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Types of Chemical Reactions
Write the type chemical reaction on the line—synthesis (combination), decomposition, combustion, single replacement, or double replacement.  Then, balance the equations using the lowest possible integers.  For questions 21 and 22, predict the products before balancing.
   single replacement
 1.
____ Zn  +  ____ H2SO4  →   ____ ZnSO4  +  ____ H2  (balanced)
           synthesis
 2.
   2    Na   +  ____ Br2  →      2    NaBr

  double replacement
 3.
____ HCl  +  ____ NaOH   →   ____ NaCl  +  ____ H2O  (balanced)
      decomposition
 4.
   2    H2O2   →      2    H2O  +  ____ O2
   single replacement
 5.
____ Cu   +      2    AgNO3   →      2    Ag   +   ____ Cu(NO3)2
        combustion
 6.
____ C2H5OH   +      3    O2   →      2    CO2  +     3    H2O 

      decomposition
 7.
   2    KOH  →   ____ K2O  +  ____ H2O

   single replacement
 8.
____ Mg  +     2    H2O  →   ____ Mg(OH)2  +  ____ H2
      decomposition
 9.
   2    AlCl3  →     2    Al  +     3    Cl2
           synthesis
 10.
   2    H2  + ____ O2   →      2    H2O           

  double replacement
 11.
   2    KI  +  ____ Pb(NO3)2  →  ____ PbI2   +     2    KNO3
           synthesis
 12.
   4    P  +      5    O2  →     2    P2O5
      decomposition
 13.
____ Ca(ClO3)2  →  ____ CaCl2  +     3    O2
   single replacement
 14.
____ Fe2O3  +     3    C   →     3    CO  +     2    Fe

           synthesis
 15.
   4    Fe  +     3    O2   →      2    Fe2O3
   single replacement
 16.
   3    Ca  +     2    AlCl3  →     3    CaCl2  +     2    Al

           synthesis
 17.
____ N2  +  ​​   3    H2   →     2    NH3
  double replacement
 18.
____ Ba(NO3)2  +  ____ Na2SO4  →  ____ BaSO4  +     2    NaNO3
        combustion
 19.
____ C3H8   +     5    O2   →      3    CO2  +     4    H2O

      decomposition
 20.
   2    HgO   →      2    Hg  +  ____ O2
           synthesis
 21.
   2    Na   +   ____ Cl2   →       2    NaCl
        combustion
 22.
____ CH4  +      2    O2   →    ____ CO2  +     2    H2O    






